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[ fosg wosnwh : 100

[ Max. Marks : 100

Marks
Qn. | Ans.
Value Points allott
Nos. | Key
ed
. I n(AUB) =51 n(B)=26n(A)=37SLAUILrn B sl A
& n(AnB)
63 (B) 12 (A)
25 (D) 14 (C)
Ans. :
(A) 12 1
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81-U 2
Marks
Qn. | Ans.
Value Points allott
Nos. | Key
ed
9 1 1
~ ¢ e bnlhlSrmend gl
L m 16 (A)
16
4 (D) L
4
Ans.
1
© = 1
3. < Uy HCF 6 (Prime numbers) sLels*4s
b (B st (A)
sesd (D) Qb (C)
Ans. :
© | sdb 1
4. ‘adﬁ;é(ff(—l) ?ﬂf(x)=2x3+3x2—11x+6ﬁ
- 10 (B) 0 (A)
18 (D) - 18 (O
Ans. :
(D) | 18. 1
5 § CD 9% AD=4 cm s BD=8 cmJle. BD L AC 1l aBC= 90° AR\ ABC
AR,
(]
D
B A
4cm (B) 16 cm (A)
12cm (D) 64 cm (C)
Ans. :
(A) 16 cm 1
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3 81-U

Qn. | Ans. Marks
Nos. | Key Value Points al::itt
6. -¥ (a cute) 02lz20) 0 Jf.,eg. L"ﬁd}l,«'éu’(c:..wdj@» CS(I)I; (( Zgz : g))
cot® (B) secH (A)
cosec 0 (D) tanf (C)
Ans.
B) | cot6 1
- -a‘quﬁ (mid-point) W’,Lw_n,uﬁf (4, 7)! (2, 3)b
(1, 2) (B (-3, -5) (A
(6, 10) (D) (3, 5) (C)
Ans.
€| (3, 9) 1
8. ar /f;’.ﬂ@)’&gbbﬂ_)ﬂ” (Surface area) ﬁ/j/ 5/
onr®  (B) nr? (A)
4nr® (D) 3nr? (C)
Ans.
(D) | 4nr2. 1
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81-U 4
Qn. . Marks
Nos. Value Points allotted

II. St 6x1=6

-&2 1 f&?x[@@fﬁ direct /IcF 14 < 9 /‘,‘Ulr
0 b2 L o p Lg% i-t (Shirts) 2 4 sl (Pants) ¢#% 2 JILLAg
¢ d‘.'_[:ﬁfj"scufr
Ans. :
%}LLDUL%’JJ“{J'Uﬁ - 2x4=8 1
10 § (Sample space) L»“Jé_waa,fﬁa_éé_u:fjuug;/ugfu# Fair 2
sy
Ans. :
S = {HH, TT, HT, TH)} 1
11| I 3600 st Boe FOemg (FunNdZen-re s Utebi L L
S e e S
Ans. :
P 100
Jlﬂj-:,d/d/b = 10¢ 1
- MX % /2
= 1000 Tons Yo 1
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5 81-U

Qn. . Marks
Nos. Value Points allotted
12. _.ér':l’”d/.";ji/u;ﬁ[x+3)d/zﬁf._glb/f(x)=x2 +5x+6 /1
Ans. :

VLY SNV
6

x2 +5x+6 3/\2

= x2 +3x+2x+6

= x(x+3)+2(x+3) Yo

= (x+3)(x+2)

_:"_[x+2]d/2’f.;‘» 1 1

x+3)7+5x+6(x+2 Yo
2

+ 3x

(o I
2x +
x+6

=

0
_d"_[x+2]d/2’f.;‘» 1, ]

13. ¢ L}ﬁ!’tiéf (Concentric circles) :_.J;bf/f"'

Ans. :

_ugf_.[krgfb))}(?uﬁjljw_iﬁbﬂ same ..«g}'//gcﬁ;//b 1
14. _ér;b"uuﬂ}d/b}_/u;ﬁ %UWijugﬁ-%Jféd_./J)ugm}bﬂ

Ans.
mim, = -1 Yo
1
—xms = —1
J§ 2
my = - 3
— -3 QLW;”JLS:__/» ” )
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81-U 6
Qn. . Marks
Nos. Value Points allotted

— B=1{2, 3, 4, 5} A=(1, 2, 3}/

(A NB) =A UB éél??ﬁqi5£U={1, 2,84, 5 6,7 8)
Ans. :
ANB = {2, 3} Ya
(ANB) = U-(ANB)
= {1, 4, 5, 6, 7, 8} (i) Yo
A'={4,5,6,7, 8}
B'={1,6,7,8} 7
A'UB' ={1,4,5,6,7,8} .. (i)
& (i) s (i) <ol
(AnB)'= A'UB!' Y2 2
16. _é(,h";,f(u&ri (Infinite) U2 + % + % +..... ISk
Ans.
1
a = 2, r=3 S, =7
- _a 1,
SOo -7 2
1- =
3
_ 2
3-1
3
2
3
Z/ 3
== X —
2
=3 Yo 2
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7 81-U
1:12:8' Value Points al:::::{: d
17. cew P E Loy [ Sk
Ans. :
cow)P L2 3 SIP
= 2+\/§=§wherep,qez, qg=0 Yo
= J3 - pP—-2q
q
= /3 /‘_'-),wd;"‘ug
p-29 is rational. Yo
q
P (P72 G P
é_),wd,ﬂ"" [ . “é_)ﬁdf}" (/3
Ya
_.;_.;L:??Lugw/j),@g.uﬁxd?” J3 UJ?
—eowJF AL 2+ 3 N )
18. ﬂufélpéiszuf (Octagon) CLL‘UF/?/JL;T
Ans. :
g JEOn T 8 U ED s s T
)LOJ“JJLﬂ})J)UfJ'Z = 802 \ Vs
n(n-1) s . _ #(8-1)
nC2 = T = C2 = 7 1/2
= 4x7
= 28 Ya
St Lwak 8 Ui 08
I SUsss = 28 -8
= 20 Ya 2
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81-U 8
Qn. . Marks
Nos. Value Points allotted

A
)lﬁJd}};JCWUI}LI)U}’LZ n = n(n-3) A
SO B T g
IS (B9 v
= 4x5 Yo
= 20 Y2 2
‘ig')JSLJ‘C{LUg'ﬁgL%)J)L};ﬁ'JGJ
9. L 5 RS R Gl Ei Sk
Ans. :
)Jlﬁldjﬁ.owfuLlsé_.ﬁ(‘:ﬂa_ 5 = 10, 15, 20, ... 95
,.H;- = 10+ 15+20+...+95
a =10, d=25, T, =95
T = a+(n-1)d
n
95 = 10+(n-1)5
85
( n-1 ) = ? 1
(n-1) = 17 n =18
- : n
.g{/%@../?!b{i!f S, :5[2a+(n—1)d]
S18 = %5[2x10+(18—1)5]
= 9(20+85) 1
= 9 x 105
S18 = 045 2
’
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9 81-U
1:12:3.. Value Points al:::::{:d
n= 18, a=10, [=95
Sn _ n(a2+l) )
18(10+95)
818 = — = 9 x 105 = 945.
A
10+15+20+...+95
= 5(2+3+4+...+19) Yo
= 5(X19-1) Vs
= 5(190-1) Vs
= 5x 189 = 945. 2 2
0o, | LU E Lol shr-4 e ipdifiSe 1, 2,3, 4, 5t
¢ Ut (e 2000
b
-é()*’:.u}'d/n Y 2("Py)+50=2"p, Ji
Ans. :
PGl 5kt 4 - °P, = 5x4x3x2
= 120 Ya
SISAL -4 P 2000
CEE | cenk | el | peEde
lp *p, 3p, ’p, 1
= 1x4x3x2
= 24 numbers. Ya
L
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81-U 10
1:12:8'. Value Points al:::::{:d
ARISA -4 fe 2000 - 1, 4p, v,
= 1x4x3x2 7o
= 24 Yo 2
L
2("Py)+50 = P,
2n(n-1)+50 = 2n(2n-1) Yo
on2 —Zn+50 = 4n2 —7n Yo
4n? - 2n% = 50
2n? = 50 vz
n? = 25
n==>5
n=>5 Yo 2
01, LULK/:G{U?JU/__.:F -Slrn b1 4ui;£u>l,'f€g,}'/bg;( (Dice) ij_.l:u

e O AP el
Ans. :
.::Lp;’;dff‘ﬁ - 6x6 = 36

n(s) = 36 2

elbhLli w7 oh o 4 2|20 (25)(54)
(4,3) (5,2) (6,1)

n(A) =

6
VKL 7 E ~ pia) - n((gx)
n

Yo
2

~

Y2

o= glo
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11 81-U

Qn. . Marks
Nos. Value Points allotted
. Sl P

32
NEENE

Ans. :

S5 3 AP 52

_ 32 5+42 v,
V5-V2 J5+\2
_ 32 (5+42)
(V5)% - (42)° v
_ 3/10+3(2)
5-2
_ 3/10+6
3
_ B(J10+2) 1,
3
= J10 +2. Yo 2
3. (75 -=45) ({20 +12) : (Simplify) iﬁf

Ans. :

(V75 - /45) (420 +V12))
(J25x3 = \J9x5) ({J4x5 + J4x3) 2

= (543 = 345) (245 + 243)

= 543 (245 + 243) - 345 (245 + 243) 7o

= 10415 +10(3) - 6(5) — 6415 Ya

= 10Jﬁ+§6—§6—6ﬁ

= 4415 . & 2
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81-U 12
Qn. . Marks
Nos. Value Points allotted

04 : 5(#’&@;3’&615&.;)@"1 (Synthetic division) (:;/&(/..
(3x> —=2x%> +7x-5)+(x-3)
b
OJ:'/E’( (x - 2)]5619&4_)@“'& (Factor theorem) d/"i.lfr‘
_‘_ﬁ?_{:,::_.g_}/”fjff( x) = x°—Bx* +6x—20
Ans. :
3 3 -2 7 -5
0 9 21 84
3 7 28 79 1
e = 3x2 + 7x+ 28 Yo
3L - 79, v | 2
b
Let f(x) = x° -3x2 +6x-20
9 f(x) e bl A7 (x- 2))7
Glbn f(2) =0 Yo
©oflx) = x®-3x% +6x-20
f(2) = 23-3(2)2+6(2)-20 Vs
- 8—}& ¥ 17/_9 ~20
- - 12
f(2) =0 Vs
K x3 - 3x2+6x-20 L)-)fd/‘.’f-;x—Q Yo
¢ 2
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CCE PR 13 81-U
Qn. . Marks
Nos. Value Points allotted

25.| 9% AE=4cm 4 DB=5cm «AD=2cm/l_c DE || BC Ut A ABC
_Ee# A
Ans. :
DE || BC U~ A ABC
AD  AE .
DB  EC BPT &
2 4 .
2 - T Y
5 EC §
s
EC = ¥ xS _ 10 cm Yo
AC = AE + EC
= 4+10
= 14 cm. 72 2
A
DE || BC U~ A ABC
AD AE
= - == . BPT L
AB ~ AC Cor &
2 _ 4 Ya
2+5 AC
2
AC = 7;’4: Vs
= 14 cm. 72 2
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81-U 14
Qn. . Marks
Nos. Value Points allotted

06.| (Tangent)JWhk, P Jii’-g PQ }:_QKJH 7 cm uf:_.}l;&/z’”._.w 4.5 cm
_E sl
Ans. :
r = 45cm Chord PQ = 7 cm
Q
P
p /1y — Yo
7 — Ya
JV— 1 2
27. Lok (8, 12) (2, 4) b S bl dikoG
Ans. :
ogya
(%9 Yq)
AL = (2, 4)
(x2 y2)
B L= (8, 12) Ya
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15 81-U
13:8 Value Points aﬁ:::‘:’d
Loliglnd b
d= (xy -2 P+ (yy -9y ) Yy
= J(8—2)2 +(12-4)2
- Je2+82 2
- J36+64
- J100 )
= 10. Yo
28. JJféféfc. B(iﬂfﬂ“d/ (Goal) J,fééic. A fi)f (Hockey match) éJl:..g
é:-_,"j.giﬂ}ﬁ 15 ?/}J‘EKJIM“JJ.J%J{LU!{U;»;L{;{..gr_,l:fuijwn
-gfr,bﬁfﬁwfi
Ans. :
JIM“JJfZ::. A (E.G/u’/’ =x
:lﬁd/dfzfc:. B (j - .
x = (2y-1) 2
PSS - 15
xy = 15
(2y-1)y = 15 2
(2)(-15)= -30
2y2 -y -15=0 —6/\5
2y% —6y+5y-15=0
2y(y-3)+5(y-3)=0
(y-3)(2y+5)=0
y = 3 Vs
X=2x3-1=6-1=5 #y=3%3 2
5= M"deéa. A (f
3= ;lﬁd/dfzfc:. B (j 2
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81-U

16
Qn. . Marks
Nos. Value Points allotted
29. -@/ﬁd@&JJGJJLBQLB - acute 0bysli 0 J B\ ABC zé.:
cos 6 (b) sin@ (a)
sec 0 (d) cosec O (c)
A
0
V3
2
B 1 C
Ans. :
a) sin 6 = % = B_C - l 1/2
Hyp AC 2
b) cos O = A—d"] = AB = ﬁ 1,
Hyp AC 2
1 1
c) cosec O = e - 2 )
1 2
d secH = = —. Yo
cos 0 J3 9
-< “‘:J:LJ‘{ di;rig Direct answer
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CCE PR 17 81-U
Qn. . Marks
Nos. Value Points allotted

30. t e (Plan),.J/GL..:.«L)L”'J:SZyﬂ
[20m =1cm : 2k ]
P4 K
140
£ D 80 90
60 & B 60
& E 30 20
= A
Ans. :
20m = % = 1l cm
60m = g—g = 3 cm
90 m = % = 4-5cm
140 m = %) = 7 cm
60m = % = 3 cm
80m = % = 4 cm
30m = ;—8 = 1-5cm Yo
&
// o
2 gom W \\
2om
G bow
laom
E\QF
A 11/2 2
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81-U 18
Qn. . Marks
Nos. Value Points allotted

31. Q={2) 3! 43 536}‘P={13 25 3!4})/'
Q’JUlsL/g:Lg(PuQ]’ ?um.;dj.ié U={1, 2,3, 4,5, 6, 7,8, 9, 10}
-&-l (Venn diagram) S
Ans. :
7 7 777
i L
//
/ f
[ a.
|
.-""-o
1
(Poa) 2
30 WIS Y ST
AGLISE n Ol (a)
(a>Db) Ml&npuyﬂé busla (b)
Ans. :
_n(n+1)
a) Xn = 5 1
Jw!’n = (H) = Qab, 1
bbb = (H) = == ,
33, R A
IOOPD (a}
°c;  (v)
Ans. :
a) 10p =1 1
10 —
b) c, = 10 1 )
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19 81-U
1:12:3.. Value Points al:::::es d
34. _‘LJE&»;L&;J.;E’J_lsi./ﬁ:[al.l&uw!rL‘:ﬁ.::«l.Lﬁ’»éj.iﬁu’.‘.w
L Iy 2 L/(f J:) A
L S 14 6 2 18
-&- (Pie chart) /b2 |
Ans. :
g2 RS S,
s 14 4, 260 = 126°
40
VA 6 54°
e 2 18°
I )4 18 162°
)fﬁf
Calculation —
Pie chart — 2
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81-U 20
1:12 :s.. Value Points al::::{:d
35. e VT WD)
Ans. :
LCM {‘.".«ta/“(f)lﬁl(‘l = 12 1
2 o R - Y16 1,
NG o I - %7 1
~/2 « /3 = 16 x Y27
= 16 x 27
= 7432, 1,
2
36. -ép‘” (Nature) :«.»fid’u»ﬁqzi 2x% -5x —1=0lls
Ans.
a=2, b=-5c¢=-1 Yo
A = b? - 4ac
= (-5)%-4(2)(-1) iz
= 25+8
= 33. VA
NS TI N2 al
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CCE PR 21 81-U
Qn. . Marks
Nos. Value Points allotted

37, 4AB? = AC? + BD? : Z& =% ABCD (Rhombus) %
A
o
B E] D
C
Ans. :
A
AOB = 90° U~ B\ AoB
AB? = AO? + BO? Va
1 1 .
But AO = E AC, BO = 5 BD /2
2 2
2 1 1
AB? = (EACJ + (EBD)
2 2
_ Ac®  BD "
4 4
_ AC? 4+ BD?
4
. 4AB? = AC?+ BD?. Ya 2
“_ﬁ')u’gLJ‘C{LUgiﬁé‘;%/}U}@nlJ{”
38. d"i,/__j_./ﬂ..‘"{;. (x-3) S P(x)= x2+3x2-5x+8 s S 163 Lo
_é}')”' (Remainder)
Ans. :
=L 3L P(3) Z
P(3) = (3)°+3(3)%2-5(3)+8 Va
= 27+27-15+8
= 62-15
= 47 Yo
3L P(3) = 47. o 2
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81-U 22
Qn. . Marks
Nos. Value Points allotted

39 -él’}”,l‘[iuyﬂi( -8, 15)4sl (Origin) 'l;w
Ans. :
)‘ng,y,.!z'ﬁ;.f,ge‘= x2 +y? Yo
LUk (xy)= (-8, 15)
d = {(-8)%+152 Ya
= ‘/ 64 + 225
= 1/289 Yo
d = 17 units. Yo 2
sin O +cos 6 2
- [/ = S
40. _é”,’bfu{fd/ Sine—cose!” COSB:E),I
Ans. :

Lbflr)cose= 2 = A_djzﬁ
L= 13 Hyp AC

VAN
B\ ABC, ABC = 90°

BC? = AC? - AB?

= J169-25 = [144 =12 e
8 S A
sin O = %
Figure — Yo
Finding opp. side — Yo

| PR(D)-60012 |




23 81-U
Qn. . Marks
Nos. Value Points allotted
12 5
sin O + cos 0 _ 13 13 1
sin 6 — cos 6 12 5
13 13
7 1 17
B3 7 7 2
“.ﬁ';ﬁt;}"za'_u.,,mé;%)d;%wr”
IV. 41.

L1 1 i
-Efg(ﬁi”cf:’uh 25 mguﬁum J}IEC}GQB 5 Kﬁwd,@[‘,_p
L

-

A 9 Sl wldUiin 96 JTUE s 12 NJ71E 6l Syt

_k b
Ans. :
o _ _ L
— ¥ T5 D and T11 T
a+4d = 12 (i) Ya
a+10d = 15 ... (i) Vs
1S (i) o G)
a + 10d = 15
d+ 4d = 12
(=) (=)
6d = 3
_3_1 .
176773 &
1Y 5
=% d= 5. a+/(/l[) =12
a+?2 =12
a=12-2
a = 10 v,

| PR(D)-60012 |
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81-U
Qn. . Marks
Nos. Value Points allotted
Il 25 Kl (s,
"."""a=10andd=é Y
1
roo_ 1 %
n a+(n-1)d ?
1
Tys = 1
10+(25-1)=
2
_ 1
12 1
10 + 24% =
1 1

L A
Ti1 4 Ts /;l‘.f‘z:ﬁl.ﬁ(,}l;
T5 = 12 sl T11= 15

T -T
d = u
p-q
 Ts-Tqy
5-11
_12-15 -3 1
5-11 -6 2
a-Lex gid(l
2 2
at+2 = 12
a = 10

N |~

r - — L
n a+(n-1)d

| PR(D)-60012 |
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CCE PR 25 81-U
Qn. . Marks
Nos. Value Points allotted
1 1
Tys = 7 /2
10+(25-1)=
2
_ 1
12 ¢
10 +24% =
1
T = — 1/
25 T 35 ’ 3
L
T, =12 ar? =12 i 7
3 = - (9) 2
T, =96 5- 96 i 7
6 = ar> = .. (i) 2
5 968 ar23( r3)=96
/érQ 12 L 12rY = 96
r3 =8
r3 =8 r=2 72
Mr=2 <2 q(2)2 =12
4a = 12
a = Ya
¥ r=2 s n=9aq=3 =
n
-1
s _atr™-1
n r—1
9
3(27 -1)
Sg = T 1/2
= 3(512-1)
= 3 x 511
— 1
Sg = 1533 Ya 3
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81-U 26
1:12:3.. Value Points al:::::{: d
i _Ef_fr)h’ (Variance) d{%ﬁ&a&;ﬁdfjbﬂ
CI ,5,(5;,)’ 0-4 5-9 10-14 | 15-19 | 20-24
w2 f 1 2 5 4 3
Ans. :
A= 12 i=5 3 A6
ClI f . |45 e fd fa?
0-4 1 2 -2 4 -2 4
5-9 2 7 -1 1 -2 2
10-14 5 12 0 0 0 0
15-19 4 17 1 1 4 4
20-24 3 22 2 4 6 12 1%
N=15 Yfx =6 Yfd%= 22
d{ﬁ= Q—ZfdQ—(zfdfxiQ Vs
N N
_ 22 [3}2 52
15 | 15
= (1466 -0-16) x 25 2
= 1-306 x 25
= 326 Yo 3
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CCE PR 27 81-U
Qn. . Marks
Nos. Value Points allotted

.‘.Q}’.:./D;
2 2
C.IL f x fx x fx
0-4 1 2 2 4 4
5-9 2 7 14 49 98
10-14 5 12 60 144 720
15-19 4 17 68 289 1156
1%
20-24 3 22 66 484 1452
15 Y fx=210 Y fx2=3430
I fx2 fo 2
&hd - 2y . [ J v,
N N
_ 3430 (210
15 15
= 2286 - 196 Yo
= 326 Vo 3
3l dloy,
bl /PP A = 12
ClI x |d=x-A| fd a? | fad?
0-4 2 - 10 -10 100 100
5-9 7 -5 -10 25 50
10-14 12 0 0 0 0
15-19 17 5 20 25 100
1%
20-24 22 10 30 100 300
15 Y fd =30 > fd?=550
| PR(D)-60012 | [ Turn over




81-U 28
Qn. . Marks
Nos. Value Points allotted

- o 2 2
bk - 2oy Sd _(ZfdJ v,
N N
_ 550 (30’
15 15
= 366-4 Ya
= 32'6 Ya 3
Ly
C.I f x fx d=x-x d? fd2
0-4 1 2 2 -12 144 144
5-9 2 7 14 -7 49 98
10-14 ) 12 60 -2 4 20
15-19 4 17 68 3 9 36 1%
20-24 3 22 66 8 64 192
N=15 Y fx=210 Y fd?=490
L/)lé,:.lfﬂ S Xfx
N
210 _ 1
= 15 14 Yo
- o 2
U2V i Ve
N
_ 490
15
= 32'6 Ya 3
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29 81-U
Qn. . Marks
Nos. Value Points allotted

43. e fox+3)(3x-2)+2=0e JeIZ Lo
b
4p® 259 =0 Z= =ik Inlbbiioe r1iiofI6 x2 + px+ q=0 =hle/l
Ans. :
(2x+3)(3x-2)+2 =0
2x(3x-2)+3(3x-2)+2 =0 Ya
6x2 —4x+9x-6+2=0
6x2 + 5x-4 =0 Ya
where a=6, b=5. ¢c= -4
—bi‘/b2—4ac
x = Yo
2a
—51+452 —4x6x(-4) y
- 2x6 2
_ —Si‘/25+96
- 12
_ -5+ /121
- 12
-5+11
= - 1
12 &
_ -5+11 ~5-11
T T 12 or 12
) -16
12 o 12
1 -4 1
= — _—. /
X or 3 2 3
L
| PR(D)-60012 | [ Turn over




81-U 30 CCE PR
Qn. . Marks
Nos. Value Points allotted

x2 +px+gq=0 where a=1, b=p, c=gq
W n sl m eyl
m = 4n Yo
?jﬁbgulﬂfj? ccC= m+n = __b
a
4n+n = L2
1
Sn = —p
n = % - () Y
'-,-'/bg}‘bguﬂjf = mn = <
a
4nxn =42
1
4n? = g .. (id) Va
. _ ~Pp
{&in = — 1 e lsls
B 2
Then 4[—] =q Vo
4p2 :
25 1
4p2 = 25¢q /2
2 _ 1
4p“ -25q = 0 ) 3

| PR(D)-60012 |




31 81-U

Qn. . Marks
Nos. Value Points allotted
44 _@Lﬁd)bJVbﬁé?Lﬂ)Lﬁd)ﬁféﬁql:“
Ans. :
P
A 3}
& Yy

‘L.?}l{a/'b A oy
JtUWLE BO 1 BP <5z 5 v,
BP = BO fﬁa.t/;v:b‘ : .,J-'V 1,
s2f aB s agar: S,

U< B\ AOB sl B\ APB: wsf

APB - AQB /"’.*-“"’g?{ﬁ-nfﬁﬂ
¢ Vb Y
hyp. AB = hyp AB é‘f/“'y
AP = AQ /!’Sn_.aﬁ‘zjéajblﬁug
B\ aPB = B\ A0B 4%V RHS .
BP = BQ CPCT. Ya 3
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81-U 32 CCE PR
Qn. . Marks
Nos. Value Points allotted

45. S S e PM 1L AB s PN L AC -« P i {l; BC .« AB= AC U* AABC
MB .CP = NC . BP écf.L"-‘a.“L-@L?uf
A
M
N
B ke c
L
S =k 81 cm2 6 AABC 1! 3DE = 2BC /1 _DE || Bc % A ABC
- (%36cm? /6 A ADE
A
D - E
B > ¢
Ans. :
AB = AC U< A ABC
A_4 e Sl Sl v,
B\ cvp sl BN BMP
BMP = PNC ::'"j"jl? Ya
MBP = NCP &gk Yy
& & R X
B\ mMBP ~ B\ NCP e Vs
1]\\4]? = g}lj = JJ‘\J; AA - criteria Yo
MB.CP = BP. NC. Yo 3
b
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33 81-U

Qn. . Marks
Value Point
Nos. alue Toints allotted

3DE = 2BC &YV
DE 2

-3 5
U~ A ABC . A ADE
ADE = ABC é—";'d/-# Vs
DAE = BAC S Vs
& & R X
A ADE ~ A ABC =LA s
- 2
46N ADE  DE
—— - 2
26N ABC  BC 2
Z6AADE 52
81~ 32
4x8t
28 AADE = 2222
g
= 36 cm?. 7 3
46. (1+c0tA—cosecA)(1+tanA+secA)=2Ié@:b"

L

-

i S g;./ d{s' Y gd}f._g & B JUL L =tk 2 20
r:h’dil J‘é/_c‘; 60° (Depression) »s/J ds:x; K(';?L .f’o'f.ul 30° (Elevation)

Ans. :
_ 1Jrcc.)sA_ .1 1+SinA+ 1 1,
sinA sinA cCosA cos A
sinA+cos A-1 cos A+sin A+1 1
= 2
sin A cos A
(sinA+cosA)2 ~12 L
= Yo

sin Acos A
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81-U 34 CCE PR
Qn. . Marks
Nos. Value Points allotted

B sin2A+cos2A+23inAcosA—1 »
sin Acos A 2
but sin?A+cos?A = 1
X+ 2sin Acos A-X »
= 2
sin Acos A
2simA cosA
simrA cosA
=9 Yo 3
b

A

A

~
Yo

A
U~ B\ BED, DBE =30°
tan 30° = DE Yo
BE
1 x-20
3  BE

BE = 3 (x-20) Y

A
J~ B\ ABC, ACB =60°
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CCE PR 35 81-U
1:12:8' Value Points al:::::{:d
AB
tan 60° = — Y
an 1C 2
V3 (x-20)
3(x-20) = 20
3x-60 = 20
3x = 80
x = % = 26'6 m.
& 266m (_SAJ'J/J ( approximate ). Ya 3
V. 47. x?+x-6=0: zfi:J",.g;jL(:/"
Ans. :
x2+x-6 =0
y= x2+x-6
b 0 1 2 3 -1 -2 | -3 | -4
y -6 | -4 0 6 -6 | -4 0 6
U 2
Parabola — 1
&UJUJJJ;?_ 1 4
L AP
x2+x-6 =0 y=x2,y=6-x
y = x°
X 0 1 2 3 -1 -2 | -3
y 0 1 4 9 1 4 9
y=6-x
X 0 1 2 3 -1 -2 | -3
y 6 5 4 3 7 8 9
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81-U 36

Qn. . Marks
Nos. Value Points allotted
e 2
L33 parabola — 1
-3 U‘J Ui _ 1 4
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37 81-U

Qn. . Marks
Value Point
Nos. alue Toints allotted

Y

»~

T 14 Scale :
X-axis= lem = 1 unit

T13 Y- axis = lem = 1 unit

(-4.6) +6 (3.6)

roots are -3,2
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81-U 38 CCE PR
Qn. . Marks
Nos. Value Points allotted

) Scale :
118 x—axis - lem = 1 unit
y-axis lcm = 1 unit
- 17
(4,16)
< _|1 '8 L
4 -2
1 -3 roots are -3,2
L 4
48.| L& é‘g_"/fo (dct) JV@J,(}&/.:/U _,gfusﬂ:iﬁ.ii) 2 cm !l 4 cm

-é/’:;téuJJV#;f]‘i)MUUH{JJH 9 cmﬂ/'/

| PR(D)-60012 |




39 81-U

1:12‘:. Value Points al;/:::::es d

Ans.

R = 4 cm, r = 2cm R-r=4-2 =2cm

d = 9cm

8-8cm = L;[.«‘JJJU'JD

S li;pwdb/:Jﬁlﬁf AB 1
(i ¢, ¢y, 05— 1%
ciad DB, EF — 1 4
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81-U 40 CCE PR
Qn. . Marks
Nos. Value Points allotted

e tddluv b,
49 JJL/‘LJ/L U pd s L{ ui’l‘.’» O“L &ruls 'd'_-{}uj: &.«U"',_._Alﬂl :A’G'J’L{.:fb'
- Uy
Ans. :
A
Figure — Yo
D Data — Yo
T — Y
B A o prove 2
Construction — Yo
- b4 A
2 B\ ABC fABC = 90°
‘;-L'/*”‘B': AC? = AB? + BC?
S BD L AC 9/155{
s 420178 BN ABD sl BN ABC
Uk 23
ABC - ADB Sorzs
A A :"’Uf/"'y
BAC = BAD
& & R X
B\ Bac ~ B\ paB = U s il 1
BA - AC .;:»gtlﬁ-dy"f_AA
DA ~ AB
AB? = AC.AD . () Vs
4 /20178 BN ABC sl BN BDC
ABC = BDC Sorzs
S
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CCE PR 41 81-U
Qn. . Marks
Nos. Value Points allotted

AN AN
ACB = BCD
& & R X
B\ Bca ~ B\ DcB e L gl ”
BC _ AC eniJri_aa
DC BC
BC? = AC.DC ... (i)
1T ) ()
AB? + BC? = ACx AD+ ACx DC
= AC(AD+ DC) AD+ DC=AC
= ACx AC
- AB? + BC? = AcC? Ya 4
50 ;ﬂuj’Zc_J:?a?/_.EA"{ L-/L-/)JJ}’E};{ :ﬂ/_._ﬁﬁ g_f’c‘_ Jﬁ&i;“lﬁgfﬁ_{'
215sl 61 cm Jyd{ff’-’gﬁ_q_t_fguutfc}u’-ug 7 em $sl B id Ll s
Sk {i/&JﬁJﬁJ};@?wéﬁﬁé/ 100 3&-2,10-c-30 cm $&kd
..é...:.dj@jg (Painting)
7
g g
o o
o —
A ©°
7 c
b
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81-U 42
Qn. . Marks
Nos. Value Points allotted

LAASES P W3 ISk L2151 Qoo U 0L Sk 15 cm 215 12 em
iIL L bs e/ i e Ll LA e iinbs fpo )/ id LS
-ijr:h’)fﬁJu;)lejé:.;ﬁ 7 cm dﬂ-LJL_)w::l 3 Cm/’=3
x :
I~
3cm
Ans. :
Sibi$hs = SAEFUF (G es + Bidn ) id)
= 61-(30+7)
= 61-37 = 24 cm. Yo
e el eaf 7 04, 25
dAJLJj”} = [ = 25 cm. 72
TSA JECSSFU¥F= LSA bsF+Lsa <15
+ LSAs /s /2
= qrl+2nrh + 2751‘2 1
= nr(l+2h+2r)
= 22 4 (25+2x30+2x7)sq.cm. v,
= 22x99
j‘ft’/ift‘){d]f)"ﬂﬁ = 2178 sq.cm. Ya
el ZEE, 100 (}d;.u 10%.76 55 fy - %ﬁ
= Rs. 2178 Ya 4
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43 81-U
1:12:3.. Value Points al:::::{: d
. AP
dkLJJ:J/ = h = 24 cm Yo
Sk flhs £ - [ = 25cm. Yo
P.;Jf‘J/LJJ”} = nrl
= n©x7x25sq.cm
= 1757 sq.cm. Yo
3K CEEa -
= 2n x 7 x 30 sq.cm
= 420 n sq.cm. Yo
LSA ga?/_iﬂj = 2nr?
= 21 x 72
= 98n sq.cm. Yo
g,gi’fJﬁJ,e? = b/ Lsa+ 215 LsA
+ 2/ 3 LSA Ya
= (175t +420 © + 98 n ) sq.cm.
= E?z,x ,698/99
= 2178 sq.cm. Yo
BAES Nk _ 2178 x1p
1007
= Rs. 2178 Yo 4
L
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81-U 44
Qon. ) Marks
Nos. Value Points allotted

ZVJU“.‘"JW = nr2h cubic units 72
r = 6cm = mx36x 15 c.c. /2
h = 15cm
Fei _A6F . Fals
r = 3cm
h=7-3=4cm
= %nrzh + %nrg’ 2
2
= “; (h+2r) Ya
32/
T X
- 416
3 (4+0)
= 3x10xm 72
ﬁ&:lﬁ“l
)IMJJUJ‘M = ZQ__,V{ Y2
BB
_ X X 1
B x L0 x g &
2=
AN - 18 & 4
3 A
o 754 0 i
r, =6cm r, = 3cm ro = 3cm 7
h,=15cm h,=4cm
A
lus - ;
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Qn.

45

81-U

Nos.

Value Points

Marks
allotted

nr2h

= 1 1

1 2 2 3
§TET'2 h2 +§TCT"2

2
A(6 x15)

LA Tave)

18 3
36~ x15

B0,

18.
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7 4
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